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NO. 2+16. 9 3.7 NO. 3
NO. 3 3.1 3.1 3.7 3.70 11.5
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& E 37.3 38.6 136. 3




HBAT +T BEHE
o[ B aine Je L3R HI
iRy A EREE| O R FRFE Wrim (AW SRR e
m m m m m2 m2 m3

NO. 2+16. 9 9.2 NO. 3
NO. 3 3.1 3.1 9.2 9. 20 28.5
NO. 4 20.0 20.0 7.1 8.15 163. 0
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& E 37.3 38.6 108. 8




AT +T BEHRE

e EHi fHIE S5 %N (B<1.0m)
iRy A EREE| O R FRFE Wrim (AW SRR
m m m m m2 m2 m3
NO. 2+16. 9 0.0
NO. 3 3.1 3.1 0.0 0. 00 0.0
NO. 4 20. 0 20. 0 0.3 0.15 3.0
EP. 14. 2 14. 2 0.0 0.15 2.1
EP.+1.3 0.0 1.3 0.0 0. 00 0.0
& E 37.3 38.6 5. 1




BIAT +T ¥EFHE
G| B i E F 4N (1.0m=B<2.5m)
iRy A EREE| O R FRFE Wrim (AW SRR e
m m m m m2 m2 m3
NO. 2+16. 9 0.0 NO. 3
NO. 3 3.1 3.1 0.0 0. 00 0.0
NO. 4 20. 0 20. 0 0.0 0. 00 0.0
EP. 14. 2 14. 2 1.6 0.80 11.4
EP.+1.3 0.0 1.3 0.0 0.80 1.0
& E 37.3 38.6 12. 4




BIAT +T

”

=
H

it H

e EHi fHIE SN (2.5m=B<4. 0m)
iRy A EREE| O R FRFE Wrim (AW SRR e
m m m m m2 m2 m3
NO. 2+16. 9 0.0 NO. 3
NO. 3 3.1 3.1 0.0 0. 00 0.0
NO. 4 20. 0 20. 0 0.0 0. 00 0.0
EP. 14. 2 14. 2 2.8 1. 40 19.9
EP.+1.3 0.0 1.3 0.0 1. 40 1.8
& E 37.3 38.6 21.7




BIAT +T ¥EFHE
e EHi fHIE F 2N (4. 0m=B)
iRy A EREE| O R FRFE Wrim (AW SRR e
m m m m m2 m2 m3

NO. 2+16. 9 51.6 NO. 3
NO. 3 3.1 3.1 51.6 51. 60 160. 0
NO. 4 20.0 20.0 42.9 47.25 945. 0
EP. 14.2 14.2 0.0 21.45 304. 6
EP. +1. 3 0.0 1.3 0.0 0.00 0.0
& E 37.3 38.6 1409. 6




HBAT +T BEHE
o[ B aine g (PR
iRy A EREE| O R FRFE Wrim (AW SRR e
m m m m m2 m2 m3

NO. 2+16. 9 5.2 NO. 3
NO. 3 3.1 3.1 5.2 5. 20 16. 1
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